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AP60MW
B iz K £ g | V9R| Hf&E HDCP | HCR#& EH
1 INE B 50 S 542 18 560 AP60
2 FZ SV KB S 486 72 558 AP60
3 ERRK B— | =& B 522 32 554 AP60
4 hF BE B S 544 8 552 AP60
5 BRER BES | = G 542 8 550 AP60
6 Ek A BE S 545 4 549 AP60
7 B8 8 IR S 492 57 549 AP60
8 RE %% |fFbl| B 543 5 548 AP60
9 FEZE E=MF | FE B 527 20 547 AP60
10 A2 78 X0 S 460 86 546 AP60
11 AL = gL G 548 -5 543 AP60
12 BE H=— =% S 533 9 542 AP60
13 SO RIR S 353 11 541 HR40
14 FZ SRV KB S 347 18 539 HR40
15 RA# X | |B=F B 515 23 538 AP60
16 IR IL=E FE G 505 30 535 AP60
17 EH REF | =X B 528 5 533 AP60
18 H% SCH R S 508 20 528 AP60
19 REWR 7 FE D 505 20 525 AP60
20 sl Bk |BEE| S 523 -5 518 AP60
21 R BF O|#wRI| G 480 16 496 AP60




AR60MW

JIE 45z K 4 iz SR | AfE HDCP | HCH#& B
1 FE HER F4 @ S 572.9 29 602 ARG0
2 Z=R B F4 [ B 613.0 -20 593 AR60
3 #M RF ' S 574.6 11 586 ARG0
4 WA Ex =50 B 603.1 -24 579 ARG0
5 1I5HE A FE S 563.1 12 575 AR60
6 NE && FH B 607.2 -36 571 AR60
7 HIfE HF g G 556.7 12 569 ARG60
8 R —% F4 [ D 556.7 6 563 ARG0
9 i 2 KBR S 537.3 18 555 AR60

AR60PR

B £z K 4 g SR | BHE HDCP | HCH#E B
1 INETR & B P 602.0 38 640 ARG0OPR
2 H OBF AfEE| G 612.1 15 627 ARGOPR
3 BE Bid alll P 613.1 7 620 ARGOPR
4 HE BAF |HEE| S 634.7 -15 620 ARGOPR
5 = &% |#FEI| G 619.2 -2 617 AR60OPR
6 RSy RiR S 626.0 -9 617 ARGOPR
7 #HE T & D 582.2 33 615 AR60OPR
8 AW R¥ |HEZE| B 624.4 -10 614 ARG0OPR
9 I8E 7 FE S 594.6 13 608 AR60OPR
10 ZH BE Z X0 P 0.0 23 23 ARG0OPR




3 x 20MW

JIE 5z K 4 g | 2R | Hi&E HDCP | HCH#& B

1 & RE G G 506 53 559 50m3x20
2 ne gk Bi% S 541 18 559 50m3x20
3 £H EF FE D 525 30 555 50m3x20
4 BR B BE S 560 -5 555 50m3x20
5 NEE ShE |[fMENII| S 481 71 552 50m3x20
6 A &k =8 D 542 8 550 50m3x20
7 EFR B 240 B 558 -9 549 50m3x20
8 I s=XER | ZH0 B 563 -15 548 50m3x20
9 HIfE HF g G 531 15 546 50m3x20
10 B &% |#XI| G 503 43 546 50m3x20
11 K FE 250 G 539 4 543 50m3x20
12 ZH BRth Iz B2 G 523 12 535 50m3x20
13 'R e | ®KR/I| Ds 487 43 530 | 50m3x20-s
14 ¥R RRE fat S 540 -17 523 50m3x20
15 5@ = F 472 50 522 50m3x20
16 £ BF AEE| G 240 42 282 50m3x20




P60MW

JIE 45z K 4 g | 2R | Hi&E HDCP | HCH#& B

1 BE Bid Al P 607.7 19 627 50mP60
2 RIR i#ER alll G 586.3 38 624 50mP60
3 AH EE R D 602.1 21 623 50mP60
4 FR FF HiR S 614.5 6 621 50mP60
5 Ry R S 607.6 13 621 50mP60
6 == 450 Ps 6115 7 619 50mP60-s
7 AW R¥ |HEZE| B 612.6 6 619 50mP60
8 RIR i#ER alll Gs 599.4 18 617 50mP60-s
9 IR Rl FH S 617.8 -1 617 50mP60
10 A &k =5 D 606.7 9 616 50mP60
11 ®IR KE FE G 611.7 3 615 50mP60
12 WO R o354 G 622.2 -8 614 50mP60-s
13 | EE FE S 605.0 8 613 50mP60
14 NS E4 @ Ds 613.7 -2 612 50mP60-s
15 KT &Rz KB G 610.1 2 612 50mP60
16 WO R o354 Gs 609.9 1 611 50mP60
17 I ZE Z X0 G 602.5 8 611 50mP60
18 ny gk Bi% 603.8 6 610 50mP60
19 il = | #FRN| Ds 620.6 -12 609 50mP60-s
20 EE At E[E D 588.1 21 609 50mP60
21 BRIl BR= |®WRIN| D 605.6 1 607 50mP60
22 HEREF FH Gs 617.1 -10 607 50mP60-s
23 BE &R |#FIN| G 604.4 3 607 50mP60
24 fuly &F] an Gs 602.6 4 607 50mP60-s
25 =8 F F4 [ G 589.4 18 607 50mP60
26 RE # F5 [ P 576.6 29 606 50mP60
27 = 'a |#ZEN| D 598.8 7 606 50mP60
28 e EF =50 D 587.9 18 606 50mP60
29 A &E Al G 594.7 11 606 50mP60
30 R {h— =50 S 594.3 12 606 50mP60
31 =l EX B D 601.0 4 605 50mP60
32 BR B BE S 609.3 -5 604 50mP60




33 IR & R G 604.1 -1 603 50mP60
34 R BEX |#®FRI| G 6015 1 603 50mP60
35 NE && FH B 600.0 3 603 50mP60
36 FEIL BA%E 55 B 572.7 30 603 50mP60
37 Ea St Iz B2 D 568.2 34 602 50mP60
38 KiE BF E5 [ Gs 577.3 25 602 50mP60-s
39 BR e | #@E)I| Ds 593.5 5 599 50mP60-s
40 RIS % 55/ D 556.2 42 598 50mP60
41 #wmK EB FH D 570.4 27 597 50mP60
42 ARHE 1R | AR G 593.2 3 596 50mP60
43 #HHE T 40 D 527.4 63 590 50mP60




